Petrozavodsk Winter Training Camp 2017
Day 4: Yandex Cup 2017, Friday, February 3, 2017

Problem |. Coprime Queries

Input file: standard input
Output file: standard output
Time limit: 3 seconds
Memory limit: 256 mebibytes
You are given a sequence a1, as,. .., a, consisting of positive integers. You have to answer g queries. A

query is defined by a triplet of numbers (I, r, x). For each query, you have to find the largest p such that
I <p <rand a, is coprime with x, or determine that there is no such p.

Input

The first line of the input contains two integers n and ¢ (1 < n,q < 100 000).
The second line contains n integers ay,asg, ..., a, (1 < a; < 100000).

The next m lines contain queries. The i-th of these lines contains three integers I;, r; and x;
(1<l <r;<mn, 1<z <100000).

Output
For each query, output the answer to it on a separate line.
Example
standard input standard output
5 4
12346 1
152 -1
111 4
45 2
353
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